1
F5M 2-7t

o= YN E

HSK 2012 =59 JEBME | S5
5106101000 =00l A 8 Y-1
5106109000 7|E} 8 Y-1
5106201000 E0AHEMHFR EHd A 8 Y-1
5106202000 ZZ|ofO|EM S =Htst 7 8 Y-1
5106203000 ofagE e ol =St A 8 Y-1
5106204000 1 Hio] st Moo =HbsH 74 8 Y-1
5106209000 7|E} 8 Y-1
5107101000 =00l A 8 Y-1
5107102000 S Fet S5t A 8 Y-1
5107109000 1 8o Moo =Hist 4 8 Y-1
5107202000 ZZ|ofO|EM Q) =Htst 7 8 Y-1
5107203000 ofagE e ol =St A 8 Y-1
5107204000 1 Hio] st Moo =HbsE 74 8 Y-1
5107209000 1 8o Moo =Hist 8 Y-1
5108100000 FFE (card)st 8 Y-1
5108200000 FAE(comb)st A 8 Y-1
5109101000 ok AL 8 Y-1
5109109000 SEo HEEyR EE M E A 8 Y-1
5109901000 ok AL 8 Y-1
5109909000 SEo HEEyR EE M E A 8 Y-1
5110000000 S=9 AXl HZ otE AlO|Lt Bo| EHZ TtE A[AZBHgimped) 8 Y-1

2ol HE OtE AS EESHH, A0 IX|of Aagic)
5111111000 dFoz OtE A 13 Y-1
5204110000 Ho| &o k0| M =2ko| 100 22| 85 0|AtQl 7 8 Y-1
5204190000 7|E} 8 Y-1
5205211000 HEUSALE M (mercen X 2|8HX| &< 7 8 Y-1
5205219000 7|E} 8 Y-1
5205221000 HEUSALE M (mercen X 2|8HX| &< 7 8 Y-1
5205229000 7|E} 8 Y-1
5205231000 HEUSALE M (mercen X 2|8HX| &< 7 8 Y-1
5205239000 7|E} 8 Y-1
5205241000 HEUSALE M (mercen X 2|8HX| &< 7 8 Y-1
5205249000 7|E} 8 Y-1
5205261000 HEUSALE M (mercen X 2|8HX| &2 7 8 Y-1
5205269000 7|E} 8 Y-1
5205271000 HEUSALE M (mercen X 2|8HX| &2 7 8 Y-1
5205279000 7|E} 8 Y-1
5205281000 HEUSALE M (mercen X 2|8HX| &2 7 8 Y-1
5205289000 7|E} 8 Y-1
5205411000 HEUSALE M (mercen X 2|8HX| &< 7 8 Y-1
5205419000 7|E} 8 Y-1
5205421000 HEUSHLE M (mercen X 2|8HX| &2 7 8 Y-1
5205429000 7|E} 8 Y-1
5205431000 HEUSHLE M (mercen X 2|8HX| &2 7 8 Y-1
5205439000 7|E} 8 Y-1
5205441000 HEUSHLE M (mercen X 2|8HX| &2 7 8 Y-1
5205449000 7|E} 8 Y-1
5205461000 HEUSALE M (mercen X 2|8HX| &2 7 8 Y-1
5205469000 7|E} 8 Y-1
5205471000 HEUSALE M (mercen X 2|8HX| &2 7 8 Y-1
5205479000 7|E} 8 Y-1
5205481000 HEUSALE M (mercen X 2|8HX| &2 7 8 Y-1
5205489000 7|E} 8 Y-1




5208120000 TR S(F#)(1 K20 E{ S =2F0| 100 134 % 10 Y-1
5208290000 1 Hto] RI29o| A 10 Y-1
5402331000 Zp| Eo|0 e gy =Eo|EQ A 8 Y-1
5402339000 7| Ef 8 Y-1
5402440000 ERM A}
- E20|AHES| A, 7|Et 8 Y-1
- 7|E} 8 Y-1
5402471000 Zp| Eo|0E3 gy =Eo|EQ A 8 Y-1
5402479000 7| Ef 8 Y-1
5402499000 7| Ef 8 Y-1
6103430000 stz tE 7 13 Y-1
6105100000 Hoz otE 7 13 Y-1
6105201000 stz tE 7 13 Y-1
6106202000 A - ghep)Etd Moz tE A 13 Y-1
6109903010 SSES 13 Y-1
6110200000 Hoz otE 7 13 Y-1
6115100000 CHA e RO HWF X288 AE
3. 7|E}
- 5o HAE dGE HE A 13 Y-1
6115990000 O Hioj HiXlg Moz OtE A 13 Y-1
6202110000 DL E20| HECp HE 0= A 13 Y-1
6203110000 DL E20| HECp HE 0= A 13 Y-1
6203310000 otpL} EE20| HE g2 EHz Ot=E A 13 Y-1
6203320000 Hoz Or= 74 13 Y-1
6203410000 DL E20| HECp HE 0= A 13 Y-1
6204110000 DL} E20 HERQ 2 OtE 7 13 Y-1
6204310000 DL E20| HECp HE 0= A 13 Y-1
6204320000 Hoz otE 7 13 Y-1
6204510000 DL} E20 HERQ 2 OtE 7 13 Y-1
6204610000 DL E20| HECp HE 0= A 13 Y-1
6204629000 7| Ef 13 Y-1
6205200000 Hoz otE 7 13 Y-1
6208290000 O Hioj HiXlg Moz OrE A 13 Y-1
6212109000 7| Ef 13 Y-1
6214100000 Z40|L} A 90| AE (waste) 2 OtE 7 8 Y-1
6216009000 7| Ef 8 Y-1




